@ TERASAK

Innovators in Protection Technology

TemBreak

EAmfta (EHRER)
_ RIRSEAE
Plug-in base (High-Function Type)
28 Instruction Manual

TPPM12A  TPPM12B
TPPM12P
TPPM63A  TPPM63B
TPPM63P

AFAER,ZFERICEDZADSFLTATICARELTTF IV ABIHENTOEVEEL,
RUBSI-BIRWNCE->TECZBEICEL B E—BETEEVF A,

Please retain this manual for future reference.The Manufacturer assumes no
responsibility for damages resulting from non-application or incorrect application of the
instructions provided herein.

TlSSSEREM\TS L
T547-0002

KRR FEF X NERE-13-47
TEL 06-6791-2756

FAX 06-6791-2732
http://www.terasaki.co.jp

TERASAKI ELECTRIC CO, LTD.
6-13-47 Kamihigashi, Hiranoku, Osaka
547-0002, Japan

TEL +81-6-6791-2763

FAX +81-6-6791-2732
http://www.terasaki.co.jp

kiki-info@terasaki.co.jp int-sales@terasaki.co.jp

2G1363SAB (KRB-0933b)

NERLENDIIFE

WL ERRTF SAROFIC, LT ABEZOMOFBEEEE SRAEX EBOM, ZE2DE
WRVEBREEOLTUCBALT,EBBURV TV, CORIRFAE TR, ZLEEFED
S %[ BRR ] EBILLTRALTHIET,

AR BBV EE- - B0 BRERAPBY AT RTE- I EEE 25 EEMY
HEShDHEE,

BBV EBSABAIC BRERENEVA T, FRENEESCEEEZITD
AIEEMD BESN B HBE,

nh, ICEEHLAFETH RRICE S TREARLCRBRICHE D2CBEYHIET,
WFNHEELARBTT O TBTTFoTTFE,

BETLENEE (BIICHELEHOFMATEEIEHLO/EZBBLTTEL,)

A EE

OERIHEIFERE (BERIEL) PToTTFE,

OB . ZEBENER EEAMIX IR GFELERFREBICKBELAVTTAIL,
NKDEREE L7124, EBICBELEVWSZNAD HYET,

@I3I, I V- MY SMEEDEMRUMALEN TL—AREICASHEWESIC
BILTTEW KKDERREL 1) FEMEDBZMH BYUET,

@I IEElL, FRITL—H%5E%O (OFF) ICL REL TV AW EEEIBL T TTEL,
BEDBINYHIET,

Q4B TIL—HDIFE 3BUHRFXOPERELINEIERL TCTIV, BERT
B TICANKDERELYET,

@i FRUIMZERG ML TREICH I TTIV KKDERELVET,

@5 F U DFFfT B R R %, IR FERICEB A AP IIHSBEVEIICLTT AW, iHFER
NDBABISHIE KK DB ZND HVET

HEREDER

A Tk
QUi FEICHN L VWT TV BREDB I P HIET,

[1]Safety Notices

Be sure to read these Instructions and other associated documents accompanying the product
thoroughly to be familiarize yourself with the product handling, safety information, and all other
precautions before mounting, using, servicing, or inspecting the product. In these Instructions,
safety notices are divided into "Warning" and "Caution" according to the hazard level:

: A warning notice with this symbol indicates that neglecting the suggested
procedure or practice could result in lethal or serious personal injury.

: A caution notice with this symbol indicates that neglecting the suggested
procedure or practice could result in moderate or slight personal injury and/or property damage.
Note that failing to observe notices could result in serious results in some cases.
Because safety notices contain important information, be sure to read and observe them.

EMounting Precautions
(For detailed mounting dimensions, refer to the main catalogue.)

/\ Caution

@Electrical work should only be undertaken by suitably qualified persons.

@Do not place the product in an area that is subject to high temperature, high humidity,
excessive dusty air, corrosive gas, strong vibration and shock, or other unusual
conditions. Mounting in such areas could cause a fire or malfunction.

@Be careful to prevent foreign objects (debris, concrete powder, iron powder, etc.) and rainwater
from entering product. These materials inside the product could cause a fire or malfunction.

@Prior to commencing any work on the product, open an upstream circuit breaker or isolator to
ensure that no voltage is applied to the product. Otherwise, electrical shock may result.

@For 4-pole breakers, be sure to connect a neutral conductor to the N pole. Otherwise, an
over-current may hinder the product from tripping, thus resulting in a fire.

@When connecting cable or busbar to the product, tighten terminal screws to the torque
specified in this manual. Otherwise, a fire could result.

@Even when tightening the terminal screws and after conductor connection, do not apply
excessive force to the terminals. Otherwise, a fire may result.

MHandling Precautions

A\ Warning

@Never touch terminals. Otherwise, electric shock may result.

[2) #FERRZEHK  Applicable Breaker Type

AR ATK | A & &R AR
Plug-in base type | Poles Applicable Breaker Type

TPPM12A 3P

TPPM12B PS50-J], PS125-1C], P160[]

TPPM12P 4p

TPPM63A 3P

TPPM63B PS400-1CJ, PS630-L1(J, P400L], P630[]

TPPM63P 4P

*1 1 [J00=8[Izkx< [JCl=Except for “S[J”

AEW—E Packaged ltems

IR EREAE

(XF)

Instruction Manual : 1
(This document)

HNAM—E Packaged items g’%i&s A ‘TPPBMQ‘ p A ‘TPPQA@‘ P
® | &5AH Plug-in base Tpc
3P M6 6set M10 6set
@ EfIF b 4p M6 8set M10 8set
® E,\}gﬁ;’”':g o) M5%20 4set M5X35 4set
) 3p M5X20 o o
@ |BUIHRIL H(FRONT) 2set M5X20
Mounting bolt (FRONT) 4p M5X20 - 4set -
4set
3p |M5X60 — —
& |BUSRIL - (REAR) 2set M6X70
Mounting bolt (REAR) ap M5X60 - 4set B
4set
® |##5&/\R)L Panel insulator 2pc — 2pc —
@ EURERARE (&) Instruction Ipc
Manual (This document)

@ ® O] ® ®
@WWM.

4 PEELBHIR Assembly Tools

) OOEO®




5 EARFTSEFIESE Plug-in Base Mounting Procedure

HBhEI R IH T

Auxiliary Circuit Terminals

o7 JIVEfT

Mounted on angle bars

#{ I

*EIRE[EHLO

M8 | 11.8~147N-m Wiring holes
HHBNEI P& IS S ERS . - o ) | @ REMT
Standard arrangement for plug-in type auxiliary circuit terminals : Mounted for top access
TPPM12A, TPPM12B, TPPM12P TPPM63A, TPPM63B, TPPM63P |
|
3P, 4P 3P, 4P |
p— | _
AXal|AXa2|| C1 AXal|AXa2|ALat||AXa3| C1 | s///”
| -
AXb1|AXb2 AXb1|AXb2|ALb1| |AXb3 | M’
; B
| M5X 20
AXcl|AXe2| | C2 AXc1|AXc2|ALct | [AXc3| C2 | 26~35N-m | ©
I B "msx30
~35N-m | ©
AXal|ALa1l D1 AXal|AXa2|ALal| |AXa3| D1 : 26~3.5N-m _ @/éie,@
AXb1|ALb1 E AXb1|AXb2| ALb1| |AXb3 : - \ T Af;:/ -
P - -7
AXc1|ALct D2 AXc1|AXc2|ALc1 | [AXc3| D2 : @90/////
p— | _
AXal|AXa2| | D1 ' v _®
! — ¥ e ®
AXb1|AXb2 E : c /,,f;/“
AXct|Axc2| | D2 :
— | o-
AXal|ALal|| C1 | T e
- N | e
AXb1|ALb1 | M5x60 o
: c 2.6~3.5N'm ® EE YT Hr T IA S
AXcl|ALet| | C2 M6Xx70 Mounted on base plate Panel insulator
— | 2.6~3.5N*m e P
|
Conductor Connection Procedure
@TPPM12A, TPPMG3A @TPPM12B, TPPM12P
TPPM63B, TPPM63P
4G
4G
H
MBX12 F E
7.8~11.8N*m L;J L/J
D fox2s
18.6~294N-m| @

BFEY) DRFN—-EERAT 35S
When using an optional Flat Bar

WFN— R E S 5DABICTD
WM)FI3ZENTEET,

The Flat Bar can be installed in either
the vertical or horizontal direction.

Flat Bar

T2PF12
(TPPM12A)

T2PF40
(TPPMB3A)

*UDIRZRHELEZ L,
The 'D' bolt are not suppiled.

ToRizp Trrieap
E =15mm =30mm
F =10mm =20mm
G 6.5mm 1mm
H — =20mm
Ms M0 @
36~69N+m 18.6~29.4N + m

| 2G1363SAB (KRB-0933b)




